Run13: a-gain, carbon-gain, | 5%

OUTLINE: Most slides from special meeting 16.08.13 (on polar. wiki)
my slides 16.08.13:

° p. 5 a-gain vs. run

» p. 4 carbon-gain [ 1/b-slope vs. run

» pp. 6,7-10 carbon-gain vs. a-gain

°p. 11 summary

today's slides:

app.2-61__vs.run

1as

Dima K.'s slides 16.08.13:
»pp. 9,6 a-gainvs. |

op. 7 carbon-gain vs. |

my slides 16.08.13:
» pp. 9,6 carbon gain, | __jumping through 1 fill

today's slides:
»p. 7 0-gain vs. V___exposed & new detectors
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BRHIC Polarimeter Detector Current

. Vs. run: Y1

Feb

yol2-pol3,1-detl.itcurrentt (D)
yolZ-pol3, 1-detd, itcurrenttd ()

Apr May
Time (Start Fill = 17061}

yol2-pol3,1-det2,itcurrentt (1)
yol2-pol3, 1-det5, i fcurrentd (1)

Jun

yol2-pol3,1-det3,itcurrenth (1)
yol2-pol3,1-detf, i tcurrentt (1)
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VS. run: Y2

RHIC Polarimeter Detector Current

bias

||

|| L l i 'J
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Feb Apr May
Time {Start Fill = 17061)

yol2-pol3.2-detl,iicurrentd (1)
yolZ-pol3, 2-detd, i tcurrentt (I}

yol2-pol3,2-det2,icurrentt (1)
yol2-pol3, 2-deth, i fcurrentd (I)

Jun

yol2-pol3,2-det3,iicurrentt (D)
yol?-pol3, 2-detf, i fcurrentd (D)




|  vs. run: B1
bias

RHIC Polarimeter Detector Current

10

Feb Apr May Jun
Time (Start Fill = 17081)

bilZ-pol3,1-detl,itcurrenttd (1)
bilZ-pol3,1-detd, itcurrentd (1)

bil?-pol3,1-det2, itcurrentd (D)
bil?-pol3,1-deth, itcurrentd (D)

bil?-pal3,1-det3, itcurrentd (1)
bil?-pal3,1-detk, i fcurrentd (1)
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RHIC Polarimeter Detector Current

I . Vs. run: B2

|

Feb Apr

Time (Start Fill = 17081)

bil2-pol3,2-detl, itcurrentd (I}
bilZ-pol3,2-detd, i tcurrentd (D0

hay

bil2-pol3,2-det?, itcurrentd (0}
bil?-pal3,2-deth, i jcurrentd (0D

Jun

bil?-pol3,2-det3, i tcurrentd (D)




| Vvs. run: B2 zoom (1 month)

bia

RHIC Polarimeter Detector Current

Mar 07 kMar 11 kMar 15 kar 19 kMar 23 kMar 27 kMar 31 Aprod
Time (Start Fill = 17061)

bilZ-pol3,2-detl,iicurrenttd (0D
bilZ-pol3.2-detd.itcurrentt (0]

bilZ-pol3,2-det?, itcurrentd (I
bilZ-pol3.2-detB.itcurrentt (0]

bi12-pol3,2-det3, itcurrentt (I




a-gain vs. V

» RED = new
(unexposed) detectors

» NO PLATEAU

bias

Am mean (ADC)
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